
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

3rd Month, 1st Week, 1st Day Exercise 2.1 Q # (1,2,3)

Q.1. Choose the correct options.   (1 x 3 = 3)  
(i) What number is added to make the sequence 28, 34, 40, 46, _____:

28, 34, 40, 46, _____ 
(a) 6 (b) 7 (c) 8 (d) 9

(ii) What number is multiplied to make the sequence? 6, 18, 54, 162

6, 18, 54, 162 
(a) 2 (b) 3 (c) 4 (d) 5

(iii) Use first terms in the patterns to identify the rule 52, 57, 62, _____:

52, 57, 62, _____ 
(a) adding by 5  5 (b) adding by 6  6

(c) adding by 7  7 (d) adding by 8  8

 Answer the following questions:  
Q.2. What number is added to make the sequence?     (1x2=2)


(i) 12, 17, 22, 27, _____, _____, _____

(ii) 101, 106, 111, 116, _____, _____, _____

Q.3. What number is multiplied to make the sequence?   (1.5x2=3)


(i) 7, 14, 28, 56

(ii) 5, 10, 20, 40

Q.4. Use the first three terms in the patterns to find the rule.     (1x2=2)


78, 85, 92, _____
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